| Efficiency vs Dxy |

o
©
[

efficiency vs dxy

o
o))
[

0.4

o2l LI

L S S S S T

...................................................

............

Ratio

0.95

—-25 20 15 10 -5 O 5 10 15 20 25

TP dxy (cm)

MREt_TTorginal
“mkFit_TToriginal-106
“mkFit_ TTNE

m&Flt‘I'TNEW SMS
m

©
[Sa[6x %]

| Efficiency vs Dz |
N1.2
© -
%) L
> L
>
(&)
c o
Q L
S L
© 0.8

o
o))
[

0.4

=
!
3

.....................................................................

.....................................................................

(PLRES TS S T ——

Fit_TTNEWHSMS9

0.8

.9 F : 1 1 1 1 1 1 1 1
"(-B' Qb Yot ] |- - 44 # 9 Y  —. e
D: r ¥ w"
o H H I dAE L 3
0.9 " """""" 3 >‘ B 1 1
-20 -10 20

10 30

TP dz (cm)




	Contents
	Page 1


